
-44-

１０.エンジン関係(その４)(BC66MCTDP)

符号 部品コード 個数 備   考

1 0353-423-200-0 ﾊﾞﾂﾃﾘｳｹCOMP 1
2 V201-260-802-0 ｺｶﾞﾀﾎﾞﾙﾄ M8X20 3
3 V411-260-008-0 ﾐｶﾞｷｻﾞｶﾞﾈ 8 3
4 V363-260-008-0 ｺｶﾞﾀｻﾗﾊﾞﾈﾂｷﾅﾂﾄ 2ｼﾕ M8 5
5 0343-430-015-0 ﾊﾞﾂﾃﾘｵｻｴ 1

6 0347-421-011-0A ﾊﾞﾂﾃﾘｵｻｴｺﾞﾑ 1
7 0354-422-013-0 ﾌﾟﾗｽﾘｰﾄﾞｾﾝ 1
8 0354-422-014-1A ｱｰｽﾘｰﾄﾞｾﾝ(150) 1
9 0367-403-210-0 ﾏｲﾅｽﾘ-ﾄﾞｾﾝ 1
10 0353-422-011-0 ﾀｯﾌﾟﾎﾞﾙﾄ(M8X25) 2

11 3536-142-006-1 ﾜｲﾔ-ﾄﾒｶﾅｸﾞ 3
12 0353-427-200-0 ﾒｲﾝｺｰﾄﾞ(GB)COMP 1
13 3746-172-013-0 ﾊ-ﾈｽﾊﾞﾝﾄﾞ 1
14 0354-422-220-0 S.WｽﾃｰCOMP 1
15 V210-360-602-0 ﾎﾞﾙﾄ(SP) M6X20 2

16 0354-422-230-0A ﾘﾐﾂﾄｽｲﾂﾁCOMP 1
17 V111-153-002-0 ﾌﾟﾗｽﾅﾍﾞｺﾈｼﾞ M3X20 2
18 V411-250-003-0 ﾐｶﾞｷｻﾞｶﾞﾈ 3 4
19 V401-150-003-0 S.W 3 2
20 V300-250-003-0 ﾅﾂﾄ M3 2

21 0453-455-011-2B ﾊﾞｯﾃﾘ34A(G) 34A19R 1
22 3748-172-007-0 ｸﾗﾝﾊﾟ(7) 1
23 0354-421-012-0 ﾌﾟﾗｽﾀｯﾋﾟﾝﾈｼﾞ(6×12) 1

部品名称

13

2
2

15
14

17

19
2016

23

21

18

18

6

1

5

4

4

4

10

10

7 7

11

11

11

12

8
3 3

9

22
ﾒｲﾝｽｲｯﾁへ

ﾘﾚｰｽｲｯﾁへ

ﾋｭｰｽﾞｹｰｽへ

ﾗｲﾄへ


	MENU BACK: 


